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5. (A) State with reasons, whether the following statemgnts are true o
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1. Attempt any two of the followi
(a)  Explain the mgng - 15
(b)  Discuss Musgraye!s M&Qd- scope of public finance.
(c)  Outline the fe aturés . :’“mllm Welfare Principle of Budget Determination.

sound finance.

2. [Attempt any two of the follgyy;
(a) Explain the variou; il *
(b) Examine the mer; Sources of tax and non-tax revenue of the government.
© Disouss the ¢ CIlts and demerits of direct taxes.

| actors affecting shifting of a tax.

3. Attempt any two of the follo‘wing " 15
E;g E;S‘;ZZ xe Qlﬂ‘“:sification Of public expenditure.
o D,p 4 e ‘{arxous methods of managing public debts.
c) 1scuss the limitations of FRBM Act. 2003
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(B) Choose the correct answer and
(i) According toMusgrave,

Exp la%n the organised sectorof Indian money market.
DCSCfbe the money market reforms in India since 1991.
Explain the significance of capital market in economic development.

r false :— (any four) 8

The Marginal Social Sacrifice (MSE) curve is upward sloping from left toright. 1

After the great depression, the extent of state activities has decreased. P
Fees and penalties are administrativc“npn-tax revenue/tg_ the government.” |
Indirect taxes on necessities are regressive in nature.” |
External debts do not have direct maney burden. =
Fiscal deficit is tﬁb‘v'd‘ivffcrence between total revenue and total expenditure. —
There 'cxiét'_mul't,i'ple mfércst' rates in Indian money xlm_a_rket. /\

Capital r"nafket comes under the pur_view of SEBIL. |

rewrite the statements :— (any seven) 7
tie major function of public finance is.
(b)_ Distributive function,
(&) All the above ™

(a) Allocative iunction
(c) Stabilization function
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sipleof —

the prin -
is pbased on Equi-margmal Utility

B)
v ; 1 Benefit (M5 b)
(i) Ma:gl(l:;J So;j::rcasmg ' arginal ‘imtlltljgty E 4) None of the above
al u
() Diminishing mer 2 ttributed t0 —————

t of functional finance is a ) Adam Smith

(iii) The concep el ‘
O Prsw (& AP Lemsr
c
- le of tax revenue.

(iv) — is not an :::mp (b) Cust?mS duty t

(a) ‘Income (d Special assessmen

Special a3s=2% =

(c) VAT _
ts do not include i it

(v) Transfer Payg}‘;”a . oension (b) ~ Defence expenditure
: (a) gep (d) Subs'idiGS 5

(c) Interest payments

(vi) Impact of a tax refers to ———— | -
(a) Final money burden (b) _Iggnﬁdmlfl_mﬂliﬁf:__g&
(c) . Indirect money burden (d)  None of the a

(vii) Government expenditure on intefest payments is an exarm
(a)< Non-transfer. expenditure
(b) <Capital expenditure
(c) Noidevelypuéiwl expensiture
(d) Productive expenditure
(viii) Tnternal debts:can be'raised through

o1 - oy N

(@) _,_RB o ‘ (b) WTO
“(6)- IMF:- - (d) GDRs
(ix) When total revenue equals total expenditure, the budget shows
(a) Balance j (b)  Deficit -
(c) Surplus (d) ~ None of the above
" (x) Which of the followmg is not a component of unorganised money market?
(a) Loan compames (b) Money Lenders
(c) Call money market (d)  Chit funds
(xi) Certificate of Deposits (CDs) are issued by :
(a) Commercial banks (b)  Foreign banks

(c) chmnal Rural Banks d L
ocal ban}

(xy) Gﬂt-edged securities refer to ? k&

(a) Bonds -

(b) Secuntlés issued by municipa I

Y municipal corporati
(c) Industrial i 1ssues i "
(d) Government securities.
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